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(Section A)
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Santosh & Co. uses a patent process under Licence from Shanti & Co. on 1st
January, 2016. A minimum rent, of Rs. 2,000 in the first year, Rs. 4,000 in the
second year and Rs. 5,000 in the third year and thereafter Rs. 6,000 per annum
is to be paid merging into a royalty of 80 paise per article manufactured with
power to recoupe short working over the first three years only. The figure of
annual articles for the years 1st January, 2016 to 31st December, 2019 were
500, 4,500, 8,000 and 10,000 respectively.
Open the necessary accounts in the books of Santosh & Co.

2. 1 2019 60,000 12%
54,000 1 1 15

2019 200 105 40
1 2019 200 87

80 31 2019
91 2019

 13/17

P.T.O.



Y – 204 / Y– 205 (A)

( 2 ) Y – 204 / Y– 205 (A)

On 1st Jan., 2019 Rajesh had 12% debenture of Rs. 60,000. These were
purchased for Rs. 54,000. The interest paid on 1st May and 1st Nov. He sold
200 debentures on 15th March, 2019 for Rs. 105 cum-interest. He paid Bank
Commission at the rate of 40 paisa per cent. On 1st Nov., 2019 again he sold
200 debentures for Rs. 87 ex-interest. He paid Bank commission of Rs. 80.
The market value of the debentures on 31st Dec., 2019 was Rs. 91 cum-
interest. Prepare accounts in the books of Rajesh for the year 2019.

3.
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What accounting records are made in the books of the firm when a partnership
firm is sold to a limited company ?

(Section B)
4. 37½%  75% 62½% 

 342 
13/16

Of the candidates in an examination 37½% were girls. 75% of the boys and
62½% of girls passed and 342 girls failed. Find how many boys failed ?
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x + y = 8xy
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Solve the following equations by elimination method :
x + y = 8xy

1 2
10.
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6.  A = 
2 5

1 3
, B = 

1 1

3 2
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If A = 
2 5

1 3
, B = 

1 1

3 2
 find AB and BA.


